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Change 1 

	Testcase name
	cr_UEInformationResponse_v9e0_1Entry

	Reason for change
	In the template cr_UEInformationResponse_v9e0_1Entry, the parameter nonCriticalExtension is set to any or omit. 

This can not be set to any or omit because later this template is passed to the encvalue function(in the template cr_UEInformationResponse_v930_LateNonCriticalExtension). Based on TTCN3 core specification:

C.5.1 The encoding function

The encvalue function encodes a value or template into a bitstring. When the actual parameter that is passed to

inpar is a template, it shall resolve to a specific value (the same restrictions apply as for the argument of the send

statement).   

From above if encvalue used a template, then it shall be resolve to the specific value and *(any or omit) is not a specific value.

	Summary of change
	Change the value for nonCriticalExtension from * to omit 

	TTCN module
	\EUTRA_Templates\EUTRA_MDT_Specific_Templates.ttcn

	MCC160 Comment
	Accepted in principle, but implemented differently (please see MCC160 proposal)


Before change
  template(present) UEInformationResponse_v9e0_IEs cr_UEInformationResponse_v9e0_1Entry(ARFCN_ValueEUTRA_v9e0 p_ARFCN_ValueEUTRA_v9e0) :=

  { /* @status    APPROVED (LTE_A_IRAT, LTE_A_R10_R11) */

    //@sic R5-171144 sic@

    rlf_Report_v9e0 := {

      measResultListEUTRA_v9e0 := cr_MeasResultList2EUTRA_v9e0_1Entry(p_ARFCN_ValueEUTRA_v9e0)

    },

    nonCriticalExtension := *
  };
After change
  template(present) UEInformationResponse_v9e0_IEs cr_UEInformationResponse_v9e0_1Entry(ARFCN_ValueEUTRA_v9e0 p_ARFCN_ValueEUTRA_v9e0) :=

  { /* @status    APPROVED (LTE_A_IRAT, LTE_A_R10_R11) */

    //@sic R5-171144 sic@

    rlf_Report_v9e0 := {

      measResultListEUTRA_v9e0 := cr_MeasResultList2EUTRA_v9e0_1Entry(p_ARFCN_ValueEUTRA_v9e0)

    },

    nonCriticalExtension := omit
  };
MCC160 Proposal Change1:

  template(present) UEInformationResponse_v9e0_IEs cr_UEInformationResponse_v9e0_1Entry(ARFCN_ValueEUTRA_v9e0 p_ARFCN_ValueEUTRA_v9e0) :=

  { /* @status    APPROVED (LTE_A_IRAT, LTE_A_R10_R11) */

    //@sic R5-171144 sic@

    rlf_Report_v9e0 := {

      measResultListEUTRA_v9e0 := cr_MeasResultList2EUTRA_v9e0_1Entry(p_ARFCN_ValueEUTRA_v9e0)

    },

    nonCriticalExtension := omit
  };

MCC160 Proposal change 2:

	Testcase name
	f_EUTRAN_CheckUEInformationResponse_frequency

	TTCN module
	\EUTRA\EUTRA_RRCSteps.ttcn


.

.

.

function f_Return_CarrierFreqEUTRA_v9e0(template(omit) CarrierFreqEUTRA_v9e0 p_CarrierFreqEutra_v9e0) return template(omit) CarrierFreqEUTRA_v9e0

  { // @sic R5s170267 rename fl_Return_CarrierFreqEUTRA_v9e0 -> f_Return_CarrierFreqEUTRA_v9e0 sic@

    var template(omit) CarrierFreqEUTRA_v9e0 v_CarrierFreqEUTRA_v9e0 := omit;

    if (isvalue(p_CarrierFreqEutra_v9e0)) {

      if (valueof(p_CarrierFreqEutra_v9e0.dl_CarrierFreq_v9e0) >= maxEARFCN) { //Band > 64

        v_CarrierFreqEUTRA_v9e0 := p_CarrierFreqEutra_v9e0;

      }

    }

    return v_CarrierFreqEUTRA_v9e0;

  }

  function f_EUTRAN_CheckUEInformationResponse_frequency(integer p_Band,

                                                          Frequency_IE_Type p_Frequency,

                                                          SRB_COMMON_IND p_ReceivedAsp) runs on EUTRA_PTC

  { 

    var bitstring v_UEInformationResponse_v930_IEsContainer;

    var UEInformationResponse_v9e0_IEs v_UEInformationResponse_v9e0_IEs;

    var UEInformationResponse_v930_IEs v_UEInformationResponse_v930_IEs;

    var integer v_Result;

    if (p_Band>64) {

        if (ispresent(p_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension)) {

           v_UEInformationResponse_v930_IEs := p_ReceivedAsp.Signalling.Rrc.Dcch.message_.c1.ueInformationResponse_r9.criticalExtensions.c1.ueInformationResponse_r9.nonCriticalExtension; 

           v_UEInformationResponse_v930_IEsContainer := oct2bit(v_UEInformationResponse_v930_IEs.lateNonCriticalExtension);

           v_Result := decvalue(v_UEInformationResponse_v930_IEsContainer, v_UEInformationResponse_v9e0_IEs);

           if (v_Result != 0) {

              FatalError(__FILE__, __LINE__, "Decoding error")

           }

           if (not match(v_UEInformationResponse_v9e0_IEs.rlf_Report_v9e0.measResultListEUTRA_v9e0, cr_MeasResultList2EUTRA_v9e0_OneEntry(p_Frequency.UL_DL_Earfcn.dl_CarrierFreq_v9e0)))

           {

              f_EUTRA_SetVerdictFailOrInconc (__FILE__, __LINE__, "Wrong frequency");

           }

        }

        else

        {

           f_EUTRA_SetVerdictFailOrInconc (__FILE__, __LINE__, "nonCriticalExtension not present");

        }

    }

  } 

}

MCC160 Proposal change 3:

	Testcase name
	f_TC_8_6_7_3_EUTRA

	TTCN module
	\EUTRA\ LTE_A_IRAT\8_6\ Inter_RAT_Logged_MDT.ttcn


function f_TC_8_6_7_3_EUTRA() runs on EUTRA_PTC

  { // Handover Failure logging / Reporting of CDMA2000 Inter-RAT measurements.

.

.

.

    //@siclog "Step 15" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 2?

    v_Band := f_EUTRA_CellInfo_GetBand (eutra_Cell2); // @sic R5-172831 sic@

    if (v_Band>64) {   //@sic R5-172831 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_Cell2.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    v_RLF_Report := cr_RLF_Report_1Entry(?,

                                         *,

                                         cr_MeasResultNeighCells_r9(cr_MeasResultList2EUTRA_r9_1Entry(v_Frequency_IE_Cell1.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                      v_PhysCellId_Cell2,

                                                                                                      omit,

                                                                                                      ?,

                                                                                                      ?,

                                                                                                      omit),

                                                                    -,

                                                                    -,

                                                                    cr_MeasResultList2CDMA2000_r9_1Entry_HRPD(v_BandClass_CDMA2000_Cell15,

                                                                                                              v_Arfcn_CDMA2000_Cell15,

                                                                                                              ?,

                                                                                                              v_PNOffset_Cell15,

                                                                                                              omit, //@sic R5s150324 sic@

                                                                                                              *,

                                                                                                              ?)),

                                         *,

                                         (cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2)),

                                          cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell2, v_Frequency_IE_Cell1.UL_DL_Earfcn.dl_CarrierFreq)),

                                         cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2), ?, hof,

                                         cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1),

                                         v_FailedPCellId_v1090); //@sic R5-172831 sic@

    SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell2,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def,

                                                                    -,

                                                                    v_RLF_Report,

                                                                    *))) ->value v_ReceivedAsp; //@sic  R5s150324 sic@
    f_EUTRAN_CheckUEInformationResponse_frequency(v_Band, v_Frequency_IE_Cell2, v_ReceivedAsp); 

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.7.3 Step 12"); }
-

-

-
MCC160 Proposal change 4:

	Testcase name
	f_TC_8_6_7_1_EUTRA

	TTCN module
	\EUTRA\ LTE_A_IRAT\8_6\ RRC_LoggedHOFailure_UG.ttcn


function f_TC_8_6_7_1_EUTRA() runs on EUTRA_PTC

  { /* Handover Failure logging / Reporting of UTRAN Inter-RAT measurements */.

.

.

    //@siclog "Step 15" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 2?

    if (v_UTRAN_FDD_TDD == UTRAN_FDD) {

      v_MeasResultUTRA_PhysCellId := cr_MeasResultUTRA_PhysCellId_FDD(v_UTRAN_PhysChId_Cell5);

      v_MeasResList2UTRA_r9 := cr_MeasResultList2UTRA_r9_1Entry(v_UTRAN_ARFCN_f8, v_MeasResultUTRA_PhysCellId, omit, *, *); //@sic R5-153730, R5s140619 sic@

    } else {

      v_MeasResultUTRA_PhysCellId := cr_MeasResultUTRA_PhysCellId_TDD(v_UTRAN_PhysChId_Cell5);

      v_MeasResList2UTRA_r9 := cr_MeasResultList2UTRA_r9_1Entry(v_UTRAN_ARFCN_f8, v_MeasResultUTRA_PhysCellId, omit, *, omit); //@sic R5-153730, R5s140619 sic@

    }

    v_Band := f_EUTRA_CellInfo_GetBand (eutra_Cell2); // @sic R5-172831 sic@

    if (v_Band>64) {   //@sic R5-172831 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_Cell2.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_UEInformationResponse_v930_IEs := *;

    }

    v_RLF_Report := cr_RLF_Report_1Entry(?,

                                         *,

                                         cr_MeasResultNeighCells_r9(cr_MeasResultList2EUTRA_r9_1Entry(v_Frequency_IE_Cell2.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                      v_PhysCellId_Cell2,

                                                                                                      omit,

                                                                                                      ?,

                                                                                                      ?,

                                                                                                      omit),

                                                                    v_MeasResList2UTRA_r9),

                                         *,

                                         (cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2)),

                                          cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell2, v_Frequency_IE_Cell1.UL_DL_Earfcn.dl_CarrierFreq)),

                                         cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2),

                                         ?,

                                         hof,

                                         cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1),

                                         v_FailedPCellId_v1090, //@sic R5-172831, R5-155791 sic@

                                         -, //@sic R5s170458, R5-155791 sic@

                                         omit); //@sic R5-161119, R5s160142, R5-1555791 sic@

    SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell2,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, //@sic R5s140150 sic@

                                                                    -,

                                                                    v_RLF_Report,

                                                                    *))) ->value v_ReceivedAsp; //@sic  R5-172831, R5-1555791 sic@

    f_EUTRAN_CheckUEInformationResponse_frequency(v_Band, v_Frequency_IE_Cell2, v_ReceivedAsp); 
    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.7.1 Step 15");-

-

-

.
MCC160 Proposal change 5:

	Testcase name
	f_TC_8_6_7_2_EUTRA

	TTCN module
	\EUTRA\ LTE_A_IRAT\8_6\ RRC_LoggedHOFailure_UG.ttcn


  function f_TC_8_6_7_2_EUTRA() runs on EUTRA_PTC

  { //Handover Failure logging / Reporting of GERAN Inter-RAT measurements.

.

.

    //@siclog "Step 15" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 1 with the GERAN neighbour Cell 24 measurement information (measResultListGERAN) included in rlf-Report?

    v_Band := f_EUTRA_CellInfo_GetBand (eutra_Cell2); // @sic R5-172831 sic@

    if (v_Band>64) {   //@sic R5-172831 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    v_RLF_Report := cr_RLF_Report_1Entry(?,

                                         *,

                                         cr_MeasResultNeighCells_r9(cr_MeasResultList2EUTRA_r9_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                      v_PhysCellId_Cell2,

                                                                                                      omit,

                                                                                                      ?,

                                                                                                      ?,

                                                                                                      omit),

                                                                    -,

                                                                    cr_MeasResultListGERAN_r9_1Entry(v_CarrierFreqGERAN_Cell24,

                                                                                                     v_GERAN_PhysChId_Cell24,

                                                                                                     omit,

                                                                                                     ?)),

                                         *,

                                         (cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2)),

                                          cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell2, v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq)),

                                         cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2), ?, hof,

                                         cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1),

                                         v_FailedPCellId_v1090); //@sic R5-172831 sic@

    SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell2,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -, //@sic R5s140362, R5s140364 sic@

                                                                    v_RLF_Report,

                                                                    *))) ->value v_ReceivedAsp; //@sic R5-172831 sic@

    f_EUTRAN_CheckUEInformationResponse_frequency(v_Band, v_Frequency_IE_f2, v_ReceivedAsp); 

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.7.2 Step 15");-

-

-
MCC160 Proposal change 6:

	Testcase name
	f_TC_8_6_7_4_EUTRA

	TTCN module
	\EUTRA\ LTE_A_IRAT\8_6\ RRC_LoggedHOFailure_UG.ttcn


function f_TC_8_6_7_4_EUTRA() runs on EUTRA_PTC

  { //Handover Failure logging / Reporting at UTRAN Inter-RAT handover / PLMN list.

.

.

    //@siclog "Step 28" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 12?

    v_Band := f_EUTRA_CellInfo_GetBand (eutra_Cell2); // @sic R5-172831 sic@

    if (v_Band>64) {   //@sic R5-172831 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_Cell2.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell12,

                                    cr_UEInformationResponse_Common(v_RRC_TI,

                                                                    -,

                                                                    cr_RLF_Report_1Entry(?,

                                                                                         *,

                                                                                         cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                 v_PhysCellId_Cell12,

                                                                                                                                 omit),

                                                                                         *,

                                                                                         (cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell12, v_CellIdentity_Cell12)),

                                                                                          cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell12, v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq)),

                                                                                         cr_Cgi(v_PLMN_Identity_Cell12, v_CellIdentity_Cell12), ?, hof,

                                                                                         cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1),

                                                                                         v_FailedPCellId_v1090, //@sic R5-172831 sic@

                                                                                         cr_RLF_Report_basicFields_r11(v_C_RNTI, ?, ?), //@sic R5-155793 sic@

                                                                                         omit,

                                                                                         omit),

                                                                                         *))) ->value v_ReceivedAsp; //@sic R5-172831, R5s150833 sic@

    f_EUTRAN_CheckUEInformationResponse_frequency(v_Band, v_Frequency_IE_Cell2, v_ReceivedAsp); 
-

-
MCC160 Proposal change 7:

	Testcase name
	f_TC_8_6_6_1_EUTRA

	TTCN module
	\EUTRA\ LTE_A_R10_R11\8_6\RRC_LoggedHOFailure.ttcn


  function f_TC_8_6_6_1_EUTRA() runs on EUTRA_PTC

  { // Handover Failure logging / Reporting of Intra-frequency measurements.

.

.

    //@siclog "Step 13" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 1?

    //@sic R5s130890 sic@

    v_Band := f_EUTRA_CellInfo_GetBand (eutra_Cell2); // @sic R5-171444 sic@

    if (v_Band>64) {   //@sic R5-171444 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell1,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -,

                                                                    cr_RLF_Report_1Entry(?,

                                                                                         *,

                                                                                         cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq, //@sic R5s170579 sic@

                                                                                                                                 v_PhysCellId_Cell2,

                                                                                                                                     *),

                                                                                         *,

                                                                                         (cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2)), cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell2, v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq)), //@sic R5s170579 sic@

                                                                                         cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1), ?, hof,

                                                                                         cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1),

                                                                                         v_FailedPCellId_v1090), //@sic R5-171444 sic@

                                                                                       *))) ->value v_ReceivedAsp; //@sic R5-171444, R5s150833 sic@

    f_EUTRAN_CheckUEInformationResponse_frequency(v_Band, v_Frequency_IE_f2, v_ReceivedAsp); 

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.6.1 Step 13"); 
-

-
MCC160 Proposal change 8:

	Testcase name
	f_TC_8_6_6_2_EUTRA

	TTCN module
	\EUTRA\ LTE_A_R10_R11\8_6\RRC_LoggedHOFailure.ttcn


  function f_TC_8_6_6_2_EUTRA() runs on EUTRA_PTC

  { // Handover Failure logging / Reporting of Inter-frequency measurements
-

-

-.

    //@siclog "Step 13" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 1?

    v_Band := f_EUTRA_CellInfo_GetBand (eutra_Cell3); // @sic R5-171444 sic@

    if (v_Band>64) {   //@sic R5-171444 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell1,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -,

                                                                    cr_RLF_Report_1Entry(?,

                                                                                         *,

                                                                                         cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                 v_PhysCellId_Cell3,

                                                                                                                                 *),

                                                                                         *,

                                                                                         (cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell3, v_CellIdentity_Cell3)), cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell3, v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq)),

                                                                                         cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1), ?, hof,

                                                                                         cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1),

                                                                                         v_FailedPCellId_v1090), //@sic R5-171444 sic@

                                                                                         *))) ->value v_ReceivedAsp; //@sic R5s170571, R5-171444, R5s130975 sic@

    f_EUTRAN_CheckUEInformationResponse_frequency(v_Band, v_Frequency_IE_f2, v_ReceivedAsp);

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.6.2 Step 13");
-

-
MCC160 Proposal change 9:

	Testcase name
	f_TC_8_6_6_4_EUTRA

	TTCN module
	\EUTRA\ LTE_A_R10_R11\8_6\RRC_LoggedHOFailure.ttcn


  function f_TC_8_6_6_4_EUTRA() runs on EUTRA_PTC

  { //Handover Failure logging / Location information
-

-

-.

    //@siclog "Step 13" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 1?

    v_Band := f_EUTRA_CellInfo_GetBand (eutra_Cell2); // @sic R5-171444 sic@

    if (v_Band>64) {   //@sic R5-171444 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell1,

                                     cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -,

                                                                     cr_RLF_Report_1Entry(?, *,

                                                                                          cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq, //@sic R5s170579 sic@

                                                                                                                                  v_PhysCellId_Cell2,

                                                                                                                                  *),

                                                                                          cr_LocationInfo_r10_LocationCoordinates((cr_Ellipsoid_Point_r10(?),cr_EllipsoidPointWithAltitude_r10(?))),

                                                                                          (cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2)), cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell2, v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq)), //@sic R5s170579 sic@

                                                                                          cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1), ?, hof,

                                                                                          cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1),

                                                                                          v_FailedPCellId_v1090), //@sic R5-171444 sic@

                                                                                          *))) ->value v_ReceivedAsp; //@sic R5-171444, R5s140743 sic@

    f_EUTRAN_CheckUEInformationResponse_frequency(v_Band, v_Frequency_IE_f2, v_ReceivedAsp); 
     f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.6.4 Step 13");
-

-
MCC160 Proposal change 10:

	Testcase name
	f_TC_8_6_6_5_EUTRA

	TTCN module
	\EUTRA\ LTE_A_R10_R11\8_6\RRC_LoggedHOFailure.ttcn


  function f_TC_8_6_6_5_EUTRA() runs on EUTRA_PTC

  { //Handover Failure logging / Logging and reporting / Reporting at RRC connection establishment / PLMN list-

-

-.

    //@siclog "Step 29" siclog@

    //Check: Does the UE transmit a UEInformationResponse message including rlf-Report?

    //@sic R5s145193 sic@

    v_Band := f_EUTRA_CellInfo_GetBand (eutra_Cell2); // @sic R5-171444 sic@

    if (v_Band>64) {   //@sic R5-171444 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell12,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def,

                                                                    -,

                                                                    cr_RLF_Report_1Entry(?, *,

                                                                                         cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq, //@sic R5s170579 sic@

                                                                                                                                 v_PhysCellId_Cell2,

                                                                                                                                 omit),

                                                                                         *,

                                                                                         (cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2)),

                                                                                          cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell2, v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq)), //@sic R5s170579 sic@

                                                                                         cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2), ?, hof,

                                                                                         cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1),

                                                                                         v_FailedPCellId_v1090, //@sic R5-171444 sic@

                                                                                         cr_RLF_Report_basicFields_r11(v_C_RNTI, ?, ?),//@sic R5-134506 sic@

                                                                                         omit,

                                                                                         omit),

                                                                                         *))) ->value v_ReceivedAsp; //@sic R5-171444 sic@

    f_EUTRAN_CheckUEInformationResponse_frequency(v_Band, v_Frequency_IE_f2, v_ReceivedAsp); 

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.6.5 Step 29");
-

-
MCC160 Proposal change 11:

	Testcase name
	f_TC_8_6_6_6_EUTRA

	TTCN module
	\EUTRA\ LTE_A_R10_R11\8_6\RRC_LoggedHOFailure.ttcn


  function f_TC_8_6_6_6_EUTRA() runs on EUTRA_PTC

  { // Handover Failure logging / Logging and reporting / Reporting at intra LTE handover / PLMN list
-

-

-.

    //@siclog "Step 16" siclog@

    //Check: Does the UE transmit a UEInformationResponse message including rlf-Report?

    v_Band := f_EUTRA_CellInfo_GetBand (eutra_Cell2); // @sic R5-171444 sic@

    if (v_Band>64) {   //@sic R5-171444 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0); //@sic R5s170579 sic@

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell12,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def,

                                                                    -,

                                                                    cr_RLF_Report_1Entry(?,

                                                                                         *,

                                                                                         cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                 v_PhysCellId_Cell2,

                                                                                                                                 omit),

                                                                                         *,

                                                                                         (cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2)),

                                                                                          cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell2, v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq)),

                                                                                         cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2), ?, hof,

                                                                                         cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1),

                                                                                         v_FailedPCellId_v1090, //@sic R5-171444 sic@

                                                                                         cr_RLF_Report_basicFields_r11(v_C_RNTI, ?, ?),//@sic R5-134506 sic@

                                                                                         omit,

                                                                                         omit),

                                                                                         *))) ->value v_ReceivedAsp; //@sic R5-171444, R5s141301 sic@

    f_EUTRAN_CheckUEInformationResponse_frequency(v_Band, v_Frequency_IE_f1, v_ReceivedAsp); 
    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.6.6 Step 16");
-

-
MCC160 Proposal change 12:

	Testcase name
	f_TC_8_6_6_7_EUTRA

	TTCN module
	\EUTRA\ LTE_A_R10_R11\8_6\RRC_LoggedHOFailure.ttcn


  function f_TC_8_6_6_7_EUTRA() runs on EUTRA_PTC

  { //Handover Failure logging / Logging and reporting / Reporting at RRC connection re-establishment / PLMN list
-

-

-.

    //@siclog "Step 12" siclog@

    //Check: Does the UE transmit a UEInformationResponse message including rlf-Report?

    v_Band := f_EUTRA_CellInfo_GetBand (eutra_Cell12); // @sic R5-171444 sic@

    if (v_Band>64) {   //@sic R5-171444 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell12,

                                    cr_UEInformationResponse_Common(v_RRC_TI,

                                                                    -,

                                                                    cr_RLF_Report_1Entry(?,

                                                                                         *,

                                                                                         cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                 v_PhysCellId_Cell12,

                                                                                                                                 omit),

                                                                                         *,

                                                                                         (cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell12, v_CellIdentity_Cell12)),

                                                                                          cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell12, v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq)),

                                                                                         cr_Cgi(v_PLMN_Identity_Cell12, v_CellIdentity_Cell12), ?, hof,

                                                                                         cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1),

                                                                                         v_FailedPCellId_v1090, //@sic R5-171444 sic@

                                                                                         cr_RLF_Report_basicFields_r11(v_C_RNTI, ?, ?),//@sic R5-134506 sic@

                                                                                         omit,

                                                                                         omit),

                                                                                         *)))->value v_ReceivedAsp; //@sic R5-171444, R5s141189 sic@

    f_EUTRAN_CheckUEInformationResponse_frequency(v_Band, v_Frequency_IE_f2, v_ReceivedAsp); 

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.6.7 Step 12");
-

-
MCC160 Proposal change 13:

	Testcase name
	f_TC_8_6_4_1_EUTRA

	TTCN module
	\EUTRA\ LTE_A_R10_R11\8_6\RRC_LoggedRLF.ttcn


  function f_TC_8_6_4_1_EUTRA() runs on EUTRA_PTC

  { //Radio Link Failure logging / Reporting of Intra-frequency measurements
-

-

-.

    //@siclog "Step 12" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 2?

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell1); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    alt { //@sic R5s170569 sic@

    [] SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell2,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -,

                                                                    cr_RLF_Report_1Entry(?, *,

                                                                                         cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                 v_PhysCellId_Cell2,

                                                                                                                                 *),

                                                                                         *,

                                                                                         cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1)),

                                                                                         cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2), omit, rlf, omit,

                                                                                         omit //@sic R5-171144 sic@

                                                                                         ),

                                                                                         * //@sic R5-171144 sic@

                                                                    ))) ->value v_ReceivedAsp {}; //@sic R5s170569, R5s130563 sic@

    [] SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell2,

                                      cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -,

                                                                      cr_RLF_Report_1Entry(?, *,

                                                                                           cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                   v_PhysCellId_Cell2,

                                                                                                                                   *),

                                                                                           *,

                                                                                           (cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1)), cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell1, v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq)),

                                                                                           cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2), omit, rlf, omit,

                                                                                           v_FailedPCellId_v1090 //@sic R5-171144 sic@

                                                                                           ),

                                                                                           * //@sic R5-171144 sic@

                                                                      ))) ->value v_ReceivedAsp {}; //@sic R5s170569, R5s130563 sic@

    }

    f_EUTRAN_CheckUEInformationResponse_frequency(v_Band, v_Frequency_IE_f1, v_ReceivedAsp); 
    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.1 Step 12");
-

-
MCC160 Proposal change 14:

	Testcase name
	f_TC_8_6_4_2_EUTRA

	TTCN module
	\EUTRA\ LTE_A_R10_R11\8_6\RRC_LoggedRLF.ttcn


  function f_TC_8_6_4_2_EUTRA() runs on EUTRA_PTC

  { //Radio Link Failure logging / Reporting of Inter-frequency measurements
-

-

-.

    //@siclog "Step 12" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 3?

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell3); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    alt { //@sic R5s170569 sic@

    []SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell3,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -,

                                                                    cr_RLF_Report_1Entry(?,

                                                                                         *,

                                                                                         cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                 v_PhysCellId_Cell3,

                                                                                                                                 *),

                                                                                         *,

                                                                                         cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1)),

                                                                                         cr_Cgi(v_PLMN_Identity_Cell3, v_CellIdentity_Cell3),

                                                                                         omit,

                                                                                         rlf,

                                                                                         omit, //@sic R5s130593 sic@

                                                                                         omit),   //@sic R5-171144 sic@

                                                                                         *  //@sic R5-171144 sic@

                                                                    )))->value v_ReceivedAsp {}; //@sic R5s170569 sic@

      []SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell3,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -,

                                                                    cr_RLF_Report_1Entry(?,

                                                                                         *,

                                                                                         cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f2.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                 v_PhysCellId_Cell3,

                                                                                                                                 *),

                                                                                         *,

                                                                                         cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell1, v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq),

                                                                                         cr_Cgi(v_PLMN_Identity_Cell3, v_CellIdentity_Cell3),

                                                                                         omit,

                                                                                         rlf,

                                                                                         omit, //@sic R5s130593 sic@

                                                                                         v_FailedPCellId_v1090),   //@sic R5-171144 sic@

                                                                                         *  //@sic  R5-171144 sic@

                                                                    )))->value v_ReceivedAsp {}; //@sic R5s170569 sic@

     }

     f_EUTRAN_CheckUEInformationResponse_frequency(v_Band, v_Frequency_IE_f2, v_ReceivedAsp);

     f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.2 Step 12");
-

-
MCC160 Proposal change 15:

	Testcase name
	f_TC_8_6_4_4_EUTRA

	TTCN module
	\EUTRA\ LTE_A_R10_R11\8_6\RRC_LoggedRLF.ttcn


    function f_TC_8_6_4_4_EUTRA() runs on EUTRA_PTC

  { // Radio Link Failure logging / Reporting at E-UTRA handover
-

-

-.

    //@siclog "Step 17" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 4 with rlf-Report included?

    //Check: Does the reestablishmentCellId included in the UEInformationResponse message equal to the global cell identity of Cell 1?

    v_FailedPCellId := cr_Cgi(v_PLMN_Identity_Cell12, v_CellIdentity_Cell12); //@sic R5s140147 sic@

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell12); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_Cell12.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    alt { //@sic R5s170569 sic@

    []SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell4,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -, cr_RLF_Report_1Entry(*,

                                                                                                            *,

                                                                                                            cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_Cell12.UL_DL_Earfcn.dl_CarrierFreq, v_PhysCellId_Cell12, omit),  //@sic R5-171144 sic@

                                                                                                            *,

                                                                                                            cr_FailedPCellId_CellGlobalId(v_FailedPCellId),  //@sic R5s140147 sic@

                                                                                                            cr_Cgi(v_PLMN_Identity_Cell1,v_CellIdentity_Cell1),

                                                                                                            *,

                                                                                                            hof,

                                                                                                            cr_Cgi(v_PLMN_Identity_Cell1,v_CellIdentity_Cell1),

                                                                                                            omit //@sic R5-171144 sic@

                                                                                                            ),

                                                                                                            * 
                                                                                                            )))->value v_ReceivedAsp {}; //@sic R5s170569, R5s140147 sic@

    []SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell4,

                                    cr_UEInformationResponse_Common(tsc_RRC_TI_Def, -, cr_RLF_Report_1Entry(*,

                                                                                                            *,

                                                                                                            cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_Cell12.UL_DL_Earfcn.dl_CarrierFreq, v_PhysCellId_Cell12, omit),  //@sic R5-171144 sic@

                                                                                                            *,

                                                                                                            cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell12, v_Dl_CarrierFreq_Cell12), //@sic R5s140147 sic@

                                                                                                            cr_Cgi(v_PLMN_Identity_Cell1,v_CellIdentity_Cell1),

                                                                                                            *,

                                                                                                            hof,

                                                                                                            cr_Cgi(v_PLMN_Identity_Cell1,v_CellIdentity_Cell1),

                                                                                                            v_FailedPCellId_v1090 //@sic R5-171144 sic@

                                                                                                            ),

                                                                                                            * 

                                                                                                            )))->value v_ReceivedAsp {}; //@sic R5s170569, R5s140147 sic@

    }

    f_EUTRAN_CheckUEInformationResponse_frequency(v_Band, v_Frequency_IE_Cell12, v_ReceivedAsp); 

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.4 Step 17");
-

-
MCC160 Proposal change 16:

	Testcase name
	f_TC_8_6_4_7_EUTRA

	TTCN module
	\EUTRA\ LTE_A_R10_R11\8_6\RRC_LoggedRLF.ttcn


  function f_TC_8_6_4_7_EUTRA() runs on EUTRA_PTC

  { //Radio Link Failure logging / Location information
-

-

-.

    //@siclog "Step 12" siclog@

    //Check: Does the UE transmit a UEInformationResponse message on Cell 2?

    v_Band := f_EUTRA_CellInfo_GetBand(eutra_Cell1); //@sic R5-171144 sic@

    if (v_Band>64) {   //@sic R5-171144 sic@

        v_FailedPCellId_v1090 := cr_RLF_Report_failedPCellId_v1090(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq_v9e0);

    } else {

        v_FailedPCellId_v1090 := omit;

    }

    alt { //@sic R5s170569 sic@

    []SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell2,

                                    cr_UEInformationResponse_Common (tsc_RRC_TI_Def, -, cr_RLF_Report_1Entry(?,

                                                                                                             *,

                                                                                                             cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                                     v_PhysCellId_Cell2,

                                                                                                                                                     omit),

                                                                                                             cr_LocationInfo_r10_LocationCoordinates((cr_Ellipsoid_Point_r10(?),cr_EllipsoidPointWithAltitude_r10(?))),

                                                                                                             cr_FailedPCellId_CellGlobalId(cr_Cgi(v_PLMN_Identity_Cell1, v_CellIdentity_Cell1)),

                                                                                                             cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2), omit, rlf, omit, //@sic R5s140741 sic@

                                                                                                             omit  //@sic R5-171144 sic@

                                                                                                             ),

                                                                                                             *  //@sic R5-171144 sic@

                                                                                        )))->value v_ReceivedAsp {}; //@sic R5s170569 sic@

    []SRB.receive(car_SRB1_RrcPdu_IND(eutra_Cell2,

                                    cr_UEInformationResponse_Common (tsc_RRC_TI_Def, -, cr_RLF_Report_1Entry(?,

                                                                                                             *,

                                                                                                             cr_MeasResultNeighCells_r9_EUTRA_1Entry(v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq,

                                                                                                                                                     v_PhysCellId_Cell2,

                                                                                                                                                     omit),

                                                                                                             cr_LocationInfo_r10_LocationCoordinates((cr_Ellipsoid_Point_r10(?),cr_EllipsoidPointWithAltitude_r10(?))),

                                                                                                             cr_FailedPCellId_Pci_Arfcn(v_PhysCellId_Cell1, v_Frequency_IE_f1.UL_DL_Earfcn.dl_CarrierFreq),

                                                                                                             cr_Cgi(v_PLMN_Identity_Cell2, v_CellIdentity_Cell2), omit, rlf, omit, //@sic R5s140741 sic@

                                                                                                             v_FailedPCellId_v1090  //@sic R5-171144 sic@

                                                                                                             ),

                                                                                                             *  //@sic R5-171144 sic@

                                                                                        )))->value v_ReceivedAsp {}; //@sic R5s170569 sic@

    }

    f_EUTRAN_CheckUEInformationResponse_frequency(v_Band, v_Frequency_IE_f1, v_ReceivedAsp); 
    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Test Case 8.6.4.7 Step 12");
-

-
